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- 3 Point Examples - 

 
1. In which box are the most triangles? 
 

(A)  (B)  (C)  (D)  (E)  
 
 

2. A sandwich and a juice cost 12 Euros together. 
A sandwich and two juices cost 14 Euros together. 

 

How many Euros does one juice cost? 

(A) 1 (B) 2 (C) 3 (D) 4 (E) 5 
 
 

3. Anna cuts the picture of a mushroom in two halves. 

 
 She then arranges the two pieces together to form a new picture. 

What could this new picture look like? 

(A)  (B)  (C)  (D)  (E)  
 
 

4. In the four squares of a row there always have to be exactly two coins. 
 In the four squares below each other there also always have to be exactly two coins. 
 

 
 

On which square does one more coin have to be placed? 

(A) square A (B) square B (C) square C (D) square D (E) square E 



5. A monkey has torn off a piece of Captain Jack‘s map. 

 

 What does the piece the monkey has torn off look like? 

(A)  (B)  (C)  (D)  (E)  
 

- 4 Point Examples - 

 
6. These five animals are made up from different shapes. 

 There is one shape which is only used on one animal. 

 On which animal is this shape used? 
 

(A)  (B)  (C)  (D)  (E)  
 

7. There is an animal asleep in each of the five baskets. 
 The koala and the fox sleep in baskets with the same pattern and the same shape. 
 The kangaroo and the rabbit sleep in baskets with the same pattern. 
 

 
  Basket 1             Basket 2 Basket 3             Basket 4             Basket 5 

 

In which basket does the mouse sleep? 

(A) Basket 1 (B) Basket 2 (C) Basket 3 (D) Basket 4 (E) Basket 5 
 

8. The picture shows one object made up of 5 identical 
     building blocks. 

 

How many building blocks touch exactly 3 others? 

 
(A) 1 (B) 2 (C) 3 (D) 4 (E) 5 



9. The kangaroo wants to visit the koala. 
 On its way it is not allowed to jump through a square with water. 

 

Each arrow shows one jump on to a neighbouring field. 

Which path is the kangaroo allowed to take? 

(A)  

(B)  

(C)  

(D)  

(E)  

 
10. Carl writes down a five-digit number. 

He then places a shape on each of the five digits (see picture). 

He places different shapes on different digits. 
He places the same shape on the same digits. 

 
 Which number did Carl hide? 

(A) 34426 (B) 34526 (C) 34423 (D) 34424 (E) 32446 
 

 

- 5 Point Examples - 

 
11. Katrin forms a path around each square. For that she uses stones like this    . 
 

 
 

How many such stones does she need for a path around the square with side length 5? 

(A) 10 (B) 11 (C) 12 (D) 14 (E) 16 
 
 

12. Below you see five pieces of lawn. 

 Which one has the smallest area of grass? 

(A)  (B)  (C)  (D)  (E)  



13. The numbers in the five circles around each house add up to 20. 
 Some numbers are missing. 

 
Which number does the question mark stand for? 

(A) 3 (B) 4 (C) 7 (D) 9 (E) 14 
 

 
14. Dino walks from the entrance to the exit. 
 He is only allowed to go through each room once. 
 The rooms have numbers (see diagram). 
 Dino adds up all the numbers of the rooms he walks through. 

 
 

What is the biggest result he can get this way? 

(A) 27 (B) 29 (C) 32 (D) 34 (E) 36 

 
 

15. The three zebras Runa, Zara and Biba take part in a competition. 
 The winner is the zebra with the most stripes. 
 
 Runa has 15 stripes. 
 Zara has 3 stripes more than Runa. 
 Runa has 5 stripes less than Biba. 
 

 How many stripes does the winner have? 

(A) 16 (B) 18 (C) 20 (D) 21 (E) 22 


